
1/4-20 × 30 mm Bolts

Side

Back

Flanged Cross Dowels

Connectors

Spacers

Cord Holder

1/4-20 × 40 mm Bolts

Base for Table Top for Compact Routers 05J67.02

Caution: To use this product safely, always follow the safety 
instructions that came with your power tool. As with any power 

tool accessory, always wear eye protection and hearing protection. Blades are 
extremely sharp; handle with care.

Assembly
Note: Assembly hardware includes eight fl anged cross dowels, eight 
1/4-20 × 30 mm bolts, two 1/4-20 × 40 mm bolts, two spacers, two connectors, 
and one hex key.

1. Attach one side panel to the back panel using two flanged cross dowels and 
two 1/4-20 × 30 mm bolts as shown. 

2. Repeat to attach the other side panel.  
3. Press the two connectors into the holes 

in the inside back panel. 
4. Attach the cord holder using two spacers 

and two 1/4-20 × 40 mm bolts.



Flanged Cross Dowels

1/4-20 × 30 mm Bolts

Secure the base to a 
workbench with clamps.

Veritas Tools Inc.  Ottawa ON  K2H 1C2  Canada  veritastools.com
© Veritas Tools Inc. 2019 974 INS-751_A

Installing the Table Top
1. Use the four remaining flanged cross dowels and four 1/4-20 × 30 mm bolts 

to secure the table top (not included) to the base.


